(29) A non metal found in liquid state at room temperature is-
(QFID T AIR! FLKE SIANATS TI A AF—)
(@) White Phosphorous (b) Red phosphorous

(1wl FHEI) (ST AT
(c) Bromine (d) Boron
(@IRW) ((Q=H)
(30) ‘e "is an example of Rhizome.

(i) Raddish (31 (i) Potato (H[e])
(i) Gourd (FT) (iv) Ginger (fMt31)
Briefly answer the questions (any ten) :-
AFrYeIa Ted wie epRel (@ (&I weifb)
(31) What is the difference between heat and temperature?
(©191 € O[T Ty N T 2)
(32) Give example of thermosetting and thermoplastic.
(AR 93k AT ATEEa Srzad v ()
(33) Calculate the area of a body which experiences a pressure of
6000 Pa by a force of 120 N7
(930 I¥T THF 120N <51 2ATATHT T 6000 Pa 514 7B =71
0T CFATE TS 7)
(34) What is acid rain?
(enifre e i e)
(35) Why curd and sour substances should not be kept in copper
vessels? (V2 31 53 SR AWy Feiafaisis «ina A it @ 2)
(36) What is a light year ? (SN CF 905 7)
(37) Write expanded form of PVC, LPG.
(PVC @32 LPG 7=l «iix f& {)
(38) Write chemcial equation involved when a iron red immersed in

cupper sulphate solution?

((ET2IG WorE ST ACFE TAre (ST ) 905 e s
GEE.

(8)
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Answer all the questions.There are 30 MCQ (1-30) in Group A, each of 1

mark. Each MCQ has been provided with four options. Shade the correct
option with ball point pen in the appropriate box in the Answer-script. Multiple
shading is liable to cance! the relevant answer. 0.25 mark will bededucted
for wrong answer to each MCQ. Group B Contains 10 questions (31 - 40)
each of 2 marks - answer these gquestions in the space provided in the

Answer-script.
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Group A

Multlple Choice Questions : 1x30=30
(1) Which of the following can be used to form a real image.
(Ntsa @it smis 95w 1a ?)
(a) Concave mirrar only (3@ 19+
(D) Plane mirror only (398 o)
(c) Convex mirrar only (SR8 7o)

(b} Both Concave and Convex mirrors (T@: ¢ T8 45 {H3)

- (2) At what temperature both celsious and Fahrenheit scale show the same value -

(pd e @rall Gl e wiEmsEh Ton (RER WA

T (MRS ?)
(a) +40°(+80°) (b) -40° (-80°)
(€) +100%(+>00") (d) 0°(0”)

(3) Two mirrors M, and M, are placed at right angle to each other,

as shown in fig.1. A ray of light incident on mirrors M, at an
angle of 25° after reflection falls on mirror B. The angle of
reflection of the ray refiecteted from mirror M, would be -
(716 Fwes wofa M, e M, 59 hafba 7w ﬂwqmmm(ng 1)
5% 2 26 &wﬁw @IS M, Wi mofes 20 afewfie ok
o B (o Wisifes 21 | <3 afifba B (@ Afewfis o A% 02
ST A 409 -) Y

(1)



(4)

(5)

(6)

(7)

(8)

(a) 25° (¢°) (b) 50° (¢0°)

(c) 65°(v¢°) (d) 115°(535¢°)

A girl of mass 50 kg is standing on the floor wearing pencil heels
each of area of cross section 1cm? and an elephant of mass
5000 kg whose each foot are 250cm? each standing on the same
floor. The ratio of pressure exerted by them will be -

(o T ©rza Glo AfTTH FTere (it BF 217 Wit =ies
TS Afefog cFasa > @A | 3 2fSog ©7 ¢ooo @& G2
1S AT (FaTa 2¢o G G2 e HifST s | Okl 3@ o

(T D17 AT PAC O] A2 Z()

(@) 1:100(5:%00) (b)5:1(>:¢)

(c) 1:5(¢: ) (d) 1:1(ad:3)

The main ingredient of biodegradable plastic is -

(te Rafers A5 T&1 Toimiaft 2e1) —

(a) Vegetable oil (Bfger (o&1)  (b) Petrolium (¢oGifEaIN)

(c) Corn Starch (98! (A1) (d) Leather (%)

The Statue of Liberty is green because in this case -
(o1p O (1103 I IS I ATFG —)

(a) Green stone was used (3TJ& AU JIZ© 3(I(2)

(b) Used brass oxidised (I9%® foree &fde srare)

(c) Steel painted in green. (IS HIFE ALE R (e TEAR)
(d) Used Copper Oxidised (J75® IA41F ST 330%)

The divice used to measure the amount of moisture is called
(Tt Ao (el ooy (@ T3 39z 23 oiF 9)

(a) Hydrometer (ZI2TGIRGIE)  (b) Hygrometer (3371fN5R)
(c) Barometer (F7if5519) (d) Thermometer (QTAfGR)
Nitrous Oxide, commonly called loughing gas has been a matter
of concern to environmentalist recently, becuse -

(FI2E SRABT T AR eifze sip B «if7fee, sifarifave
Itz ReeTeg Srarsa agd)

(2)

=)
(a) This is an endothermic chemical changes
(42 950 @0 Tl IEfae «ifdgda)
(b) This is an exothermic chemical changes
(a2 oG G0 Oief Teofin amafas “ifFasq)
(c) Thisis an endothermic physical changes
(2 ol &6 TiviaE oTe wifFasa)
(d) This is an exothermic physical changes
(42 IO G0 OIS IFTE if7aea)
(25) 21st March is observed as - (257 W16 =D «fifere 33 —)
(a) World forest day (72 I=fws)
(b) World environment day (% «ifata fra=1)
(c) World life day (= Sa= fwas)
(d) International Ozone day. (BT I[ST QT aw)
(26) Which part of a flower develop into fruit?
(PR (@I THMD T oo 230 2)
(a) Pistil (7SF=[)  (b) Petal (viI#ifT)
(c) Ovary (fGFA)  (d) Stamen (9=>9)
(27) Dead organism are transformed into petroleum and natural gas in -
(T FGIIAE (PG @ PR e Fwetrsize 23 —)
(a) Absence of air (b) Presence of air
QAR wHfEfers) (AR TAFfeTe)
(c) Presence of Light  (d) Presence of light and heat
(TR TABSTS) (TN 8 SR BoAfEfere)
(28) The solution of ash of magnesium ribon is -
(ISR ©TRE Tl Td9 — )
(a) Acidic in nature (SIIf&<s) (b) Basic in nature (FI13)
(c) Neutral in nature (%)
(d) Depends on the concentration of ash in the solution.
(TBTS TR ANHLeT TR fAsa 3303)
(7) '




(b) Bee sting contains an acid called formic acid It gets (a) It is thought to cause cancer at low cencentration

neutralised with lime. (@ft &ifs fers 9a0g FH=AF GO0 A3 03 B[ =)
(2T G0 SIFPTS TSR »mif Tig) Tl SRS w4 #2fes | (b) It produces photo chemical smog
b & TS ST axfes a7e) (TS 99 (i ()
(c) Bee sting is acidic due to hydrochloric acid and this is (c) ltis a green houses gas (9f6 @36 AW 2T 57)
neutralised. (d) None of the above (E7fa8@ (==H3 w7)
(FF1 2R AHF ILI ST DG e A a5 (9) The coating of modern nonstick cookwear and electric iron is
7 2t 2) of - (SNYI~F TPH A 93 BHTS (7 2T AN o] 751 —)
(d) All of the above. (B2(33 sAaf3 Af5<) (a) Melamine (C=SIES) (b) Rayon ((Z3)
(22) You are given two statements X and Y, Select the correct (c) Teflon (BrTew) (d) Terrycot ((Gi5S6)
inference from this : (COINTE X @ Y’{i% TS (ST T | 92 TE:4] (10) The object in the centre of geocentric solar system?
(TS AT st o 757) (STFEIF (TR S9TST (&FH (T ACE B To7— )
X . Metal conduct heat (X : 4% ©It2{7 J=ifda13) (a) The Earth (9{2dl)  (b) The Moon (51%)
Y : Diamond is the best conductor of heat. {(c) The Sun (ﬂ?f) (d) A black hole (8 %13)
(Y : TN O Y9 St #Af3a13)) (11) Which statement decribe the atmosphere of the planet correctly
(a) Hence diamond is a metal (3}o312 BIIwe 93 419) (4 I&0 2l TN & A — )
(b) Only statement X is correct (‘X’ I&a763 (Fa=1sIg ABF) (@) Venous has mostly carbon-di-oxide (ST% 24iwe 14 Uiz S2w)
(C) Both Statements X and Y is correct (‘X* 93z Y % 7&413 %) (b) Mercury has mostly nitrogen (04 24<S TG ITS)
(d) None of the above ({03 77) (c) Earth has mostly oxygen (9f4I<iTe 214e Sifsre)
(23) Base used in the manufacture of S0ap Is - (d) Saturn has mostly helium. (¥f9Ts 24ive f2fera)
(R (Sfte @ Tl ame 23 —) (12) Shining surfaces are - (53603 2Fo 2 —)
(a) Calcium hydroxide (FFEATIIN ZBTIHET) (a) Good absorber of heat (SItetl I (*i7F)
(b) Potasium hydroxide (#{GIf5 s 23 rEazw) (b) Good radiator of heat (St It A=)
(¢) Ammonium hydroxide (STITRTIN 23T RT) (c) Poor absorber and poor radiator (FEaiaa Sioas ¢ 3ias)
(d) Zinc hydroxide. (fs7% i3 R30) (d) Good obsorber and good radiator
(24) When solid ammonium nitrate is added to water the resuitant (STl SIS W SiteTl [Riggs)
solution feels cold to the hand.Which statement best describes (13) Polymers are ~--——-~-ccceeeee. In nature.
this observation - GG 5 T EE— AFIeR)
(T ST 93 o kr?i\g\o I \ngza w4 2T S (a) Organic ((%])

@I 2| AT (@I TS0 T& RTHIT SIS SorgiHie (b) Inarganic (ITA)
(6) (3)




(c) both organic and inorganic ({54 8 H(&F TS2)
(d) Metallic. (¥1%3)

(14) Which of the following represents the correct match for items

(15)

(16)

(17)

in column A with those in column B.
column A &5 & column B @3 S0 A3 ifHi77a(b o1 —

Column-A Column - B
(i) Nylon (S35 (i) thermoplastic (A AITHF)
(i) PVC (i) Theromosetting (D)

(iii) Bakelite (J7ITFe1120) (iii) Fibre (©%)

(@) (1) (), (i) (), () (1) (b) (1) (i), (n) (1), () ()

(c) (1) (i), (1) (1), (i) (ir) (d) (1) (i), () (), () (1)

In PET bottles, PET means - (‘PET’ (Sl ‘PET ST & —)
(a) Polyethyl terephthatate (f@22a GRUANTEG)
(b) Polyethylene terephthalate (#ifei3fafem (GRIITED)
(c) Polyester terylene (#if&1a35 (Gfafew )

(d) Polyester teriphthate (#if&193513 (GRRANTEDG)
Phosphorus is stored in — (FATIE AIFFS 391 77 —) |
(a) Water (&(e1) (b) Alcohol (THHATFELE )
(c) Kerosene ((FAIR) (d) Paraffin Oil (sid1TFa (STe1)
Four children were asked to arrange forces due to rolling, static
and sliding frictions in an increasing order. Their arrangements

are given below, choose the correct arrangement.

(B13 &= RAS SIke 999, (5o 959 q3g 5e1 941 a9 THREF
ASITS F&! T4 | AR (FI0 ASF Fu—)

(a) Rolling, static, sliding (7S, B9, verade)

(b) Static, rolling, sliding (e, TI<$, var=+)

(c) Rolling, sliding, static (3%, 5e7954, &)

(d) sliding, static, Rolling (557954, F®, ST T39)

(18) An ultrasound equipment works at frequency -

(“SNEGHANTS” I (T F™ICFD Y] IS F(F O 75 —)
(4)

(19)

(20)

(a) Higher than 20,000 Hz (>x0000Hz)
(b) Higher than 10,000 Hz (>Y00c00Hz)
(c) Lower than 20,000 Hz (<k0000Hz)
(d) Lower than 10,000 Hz (<>ococoHz)
Stainless steel pans are usually provided with copper bottoms.
The reason for this is.
((FOIAEA I0I0e1F “Iad THICe 9413 g tofli S zm o oiae -)
(a) A copper bottom makes the pan more durable.
(TR A S AT 6 FCA)
(b) Such pan appear colourful (A@fBTE T 2wis F0H)
(c) Copper is better conductor of heat than the stainless steel
CBIEE (BTA TR TEF BT FifFa12)
(d) It protects stainless steel pan from corrosion
(92 4ITAA O MG T AT BN IS FA)
A calcium compound reacts with dilute hydrochloric acid to

produce an effervescence.The gas evolved extinguishes a
burning candle. The compound and the gas evolved is —
(«=f6 FpEhrm WW@N%W@ ses [farara 3w gw ol
33 1 && M gors Cisifer e o 1 8@ (@aift @3k [qefe
STPAIG 26 —)
(a) Calcium carbonate, carbon dioxide

(FAMHAN BT, T TR THZT)
(b) Calcium Chioride, carbon di oxide

(FFEATN (@R, I T TJ2©)
(c) Calcium oxide, Hydrogen (IFTIN SRS, 2I3CGITSH)
(d) Calcium carbonate, hydrogen (IJEHIN TG, TRGITEH)

(21) When a bee stings, immediately a paste of lime is put on the

sting, why? (GTwIfE &5 FHia M AT A SN Frad AT
e (wen 27 - F19)
(a) Bee sting is made of a base (GNI%F =1 7 My o)

(9)
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